
heb70−3n

heb70−1a
−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

logY
Y    0

    1 10

    2 100

log L*  CIELAB lightness
L* u

8,9

100,0
log(L* u)=1,69, mu=0,43

L* u=50, Yu=18

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1a]

application
range

heb70−2a
−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

logY
Y  −1

    0 1

    1 10

    2 100

log (L*/L* u) CIELAB lightness
L*  normalized to the
background lightness L* u

L*/L* u

0,179

2,000
log[(L* u/L* u)]=0, mu=0,43

L* u=50, Yu=18

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1b]

application
range

heb70−3a
−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

logY
Y  −1

    0 1

    1 10

    2 100

log ∆Y  CIE tristimulus value difference ∆Y
∆Y

0,120

2,586

logdYu=−0,08, mu=0,66

Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1c]
dY = (3/116)·(Y/Yn)2/3 [2c]
dY = a·(Y/Yn)2/3 [3c]
dY = b·(Y/Yu)2/3 [4c]
a = 0,557 b = 3,826 [5c]

application
range

heb70−4a
−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

logY
Y  −1

    0 1

    1 10

    2 100

log(∆Y/∆Yu) CIE tristimulus value difference
∆Y normalized to ∆Yu∆Y/∆Yu

0,143

3,089

log[(dYu)/(dYu)]=0, mu=0,66

Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1d]
dY = (3/116)·(Y/Yn)2/3 [2d]
dY = a·(Y/Yn)2/3 [3d]
dY = b·(Y/Yu)2/3 [4d]
a = 0,557 b = 3,826 [5d]

application
range


